H & 0l & AHS B Ml A

20208 =0ila LESIH Hatdas
FA: BaEds
B SHENeAUNR (HILAE)
el SEI2ILXE
RN - I BRA(E) - HRA - BES of v A
HolHts 1,039,441 1,034,153
SHY2LYRNA(E3EAS) 484,534 484,533
SHI2ILAA 484,534 484,533
B2y U A 444,422 444,422
201 =3 80,612 80,612
01 AFS2t2ltl 35,001 35,001
[ et==EH| 35,001
O = 2¢8 sS+EH|
9,033,000& 14 9,033
O plgial &N PS2(Y, F, )
18,0002 x85* 122 1,728
O N7 = 45,0003 x25+22 180
O dAtEHI=S 45,0002 x35+23] 270
O HHFANRES(SEMEXN, 28 5) 7
90,0002 +65+123] 6,480
O &M 7Y 27,0003 +55+13] 135
O 22E(EU) P (ZalH, BAD|)
225,000& »7 CH*32 4,725
O #EHH A2 =44l
90,0003 7 CH*32] 1,890
O =8| dxtz
200,000 <20+ 122 4,800
O =D ¢ Hiol & ¢x=
110,000 *2CH* 123 2,640
O ROIABIANABRZIBS 242
260,000 122 3,120
02 S3=gl 30,611 30,611
0 2322 2 HAl 30,611
O fEZ(821) 2,5303 %2451+ 128 7,439
O fEZ(L8Y 4302 +1,6462 708
O QeYsldAEZ
250,000& 122 3,000
O &= 1,500,000& « 122 18,000
O &fot=z 100,000« 128 1,200
O RdYs= 11,0003 =204~ 123 264
03 SAH2ZHI 15,000 15,000
O =LA 23
15,000, 000& x 14! 15,000
202 OH| 34,560 34,560
01 2L A 5,760 5,760
O 2R & 22101
80,0003 x5 #1228 4,800
O a=sugaes 20,0002 x 16«32 960
02 XN 28,800 28,800
O N0l 200,000 x 12«12 28,800




FA EBatEits
B SHESAUT|H(HLME)
el SHIEILAE (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 325,750 325,750
o7 8801 - 3Es243 315,750 315,750
O SZgsEd= 304,000
O =< 400,000 x50E * 12& 240,000
O d0= 400, 0002 x50 <22 40,000
O glolasag
20,0002 x50 *23| 12 24,000
O tEeseds
25,0003 x235H <23 11,750
11 #AIAHIXIZ = 10,000 10,000 0
[ S0iS Q22X AyIXa
10,0002 x100& %102 10,000
405 AHAHE S 3,500 3,500
01 It =S F = 3,500 3,500
O AS& Z)| 2 HIE 7Y
3,500,000& *14] 3,500
AL R AIE BH =X 2= 40,112 40,111 1
101 @124H| 14,702 14,701 1
04 JIZtNZ22 NS+ 14,702 14,701 1
O A &2 o2y 6,600
O Jlzs 550,000« 1H* 122 6,600
O AL =8 2t38H| 92 6,600
O Jlzs 550,000& «1H*12& 6,600
O 4th 28 1,502
O A28z R85
13,200,000& *3.60/100 476
O LISz FE=
475,200 *12.95/100 62
O =0H=2Es |fE=
13,200, 0002 *4.5/100 594
O 1E28s F8=
13,200,000 %1.8/100 238
O tHEEz RE=2
13,200,000& *1/100 132
201 er2&| 23,410 23,410
2 s5=34l 23,410 23,410
02322 2 HAl 370
O NSHAl 100,000 *2CH 200
O Xsxt ZA= 50,0002 1CH 0
O &FNERs= 60,0002 22 120
O Al &8ssl 16,040
O EA 5,0002 «1,488m’ 7,440
O g&EX 60,0002 43 240
O WF2I 30,0003 *3CH 23] 180




FA EBatEits
B SHESAUT|H(HLME)
el SHIEILAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O st Ae|iied ===
275,000 «1CH* 123 3,300
O ASAIM BHFHUFY 242
500,000& *12] 500
O 2gAld 233Ud ==&
100,000& * 122 1,200
O FIIQHEY 442
140,000& * 12 1,680
O AIABEdEHST] FX22|
1,500,000 *14] 1,500
O Xt&k - et 7,000
O dRXS(SJU, IS, A2FHI) 7,000
=Xt 4,000,000 *1CH 4,000
SEIHEXMYIAXIE)
3,000,000 *1CH 3,000
206 M=l 2,000 2,000
01 MHZHI 2,000 2,000
O A28 Y 7
50,0002 * 10542 2,000
FOIHIAIS (B AS) 403,284 402,522 762
FREHAAY 403,284 402,522 762
A 23l & FUEAAY 102,284 101,522 762
101 ©1AH| 44,935 44,173 762
04 JIZtN2Z2XNSE+ 44,935 44,173 762
02382 & o S 380 92
80,2403 4 x50 16,048
O g9 45 92
80,2403 x3ZH*120 28,887
206 MH=H| 7,349 7,349
01 M=4l 7,349 7,349
O oA S SZEH U & 227
500,000 *6IH A 3,000
O gH9Eg SFU 4,349
O slgr 1,578 665 £ 1,050
O 3= 1,463%2,205 ¢ 3,299
401 Al HIZ S OHbI 50,000 50,000
01 A28l 50,000 50,000
O H=H SHEH 5,000,000& 22 10,000
O =2Eaag 2857 & 8
5,000,000& »8A 40,000
a2 FU=IAAMY 301,000 301,000 0
401 AlZHIZL SO 301,000 301,000
01 Al&HI 300,000 300,000
O &ats OtAZ IAXNLI| SA
40,000,000 *14] 40,000




FA: BaEds
MR FOIHOIAIY (HEILAE)
&2l FOEAANY 2l
- FE - S9I(E1) - HIRAY - BES A 2
[ gats OtAE IXRI| SA
40,000,000 *14] 40,000
0 gats =52 2 HSS A
20,000,000& * 14! 20,000
0 24 822 =3 o =334
20,000,000 *14] 20,000
O S40E & SHatS At
20,000,000 x14! 20,000
[ Hals MHoll/IZ XK= ZHISA
20,000,000& * 14! 20,000
O g&ts ol Ig X+ ZHISA
40,000,000& 14 40,000
0 BALNE TTALS 81 2 24
40,000,000 *14] 40,000
[ Eals DI NESX ZESA
20,000,000& * 14! 20,000
[0 8als A2 ot HHISAH
20,000,000 *14] 20,000
0 dgsts ecd f
20,000,000 x14! 20,000
03 AIE SR 0HHI 1,000 1,000 0
[ gatgddts A2 FRU=SJAAY AR
CHY| 1,000,000 *14 1,000
Y2 ZHI(HIAS) 151,623 147,098 4,525
el 2 123,303 120,298 3,005
oE2A(Eatgds) 123,303 120,298 3,005
101 2124d| 123,303 120,298 3,005
01 2 123,303 120,298 3,005
O =2 123,303
O Alztelzes
12,8443 x16H+50A| 2t 12 123,303
[=2ZH| 28,320 26,800 1,520
JIZ23HI(BatEas) 28,320 26,800 1,520
201 L2 15,680 14,160 1,520
01 AtR2telbl 15,680 14,160 1,520
[ =4l 13,680
O M0y 2 L4225
9,000 » 16 95 13,680
O Ex= 2,000
O Moz & Xt
2,000,000& 14 2,000
203 R 10,840 10,840
01 J|2=2ggR=d 6,600 6,600
O Hatgesd 550,000& * 128 6,600
02 BRI S =] 640 640 0
O] HJAAD & 40,0002 *16H 640
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